module 1 lesson 2 day 2.notebook September 13, 2017

Agenda:

1) Bell Ringer: complete 1st 4 definitions on p. 3

‘* 2) Go over homework with 9:00 buddy

4) Unit 1: Lesson 2: Multiplying/Dividing with
Exponents
Activity: memory

5) HW: p. 24-26

*’ 6) Exit Ticket p.
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Form

Lesson 2: Multiplication and Division of Numbers in Exponential

In general, if x is any number and m, n are positive integers, then

m

gyt = emin

because

™R x™ = (xx) X (xex) = (x-x) = xmH,

e 2.9
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m times m+tn times
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Exercise 1

14% x 14s = l L{

2%+8=3

Exercise 5

Let a be a number.

I 1
ﬁg/ O—

(-3)?x (-3)° = C_S
A+5=14

“3 \

Exercise 2 223 Exercise 6

(=72)10 5 (=72)2 = 6 72.) Let f be @ number. 2 5
(0+3=23 o

(0 (3‘23

Exercise 3 ( 1 2 Exercise 7

534 578 — 6 Let b be a number. 2

q‘ 94 78 b / 7

B%* - b8 =
-‘- q
atd
Exercise 4 l g‘, Exercise 8

Let x be a positive integer. [f (—3)° x (=3)F

3‘ Z7+)<=I;/

l-l
.

Sep 11-11:31 AM

What would happen if there were more terms with the same base? Write an equivalent expression for each problem.

Exercise 9
23

9% x 9% x 912 = ﬂ

Exercise 10 2 c_l

22 %2527 x2° = :)_

q4L4113=23

2:5+7+9:-24

Sep 11-11:31 AM
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Can the following expressions be simplified? If so, write an equivalent expression. If not, explain why not.

Exercise 11 Exercise 14

3 14
6 x 4% x 4% x 64 = L’q)f‘—, 7b§ ¥L 2Xe=24xgj_= 2_’°
,__’2, oy H+4=10

Exercise 12 Exercise 15
12~ q

(—4)3-1?5-(—4)5-1?’:61-/ 5. I7 3G =3"x3"= 3
1)*(+d)™- 17517 ) 7+2=9

Exercise 13 3 Exercise 16
15%-7%-15-7% = {5 . 7 © sex2ii= P10 = bﬁs‘és

15215-777

o
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Exercise 17

Let x be a number. Simplify the expression of the following number:

SIS mulbylg
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Exercise 18

L nd b be numbers. Use the distributive law to simplify the expression of the following number:

ala+b) = ) o

a(a) = a 3 L
o (b) = *b o~ 3 M
g p? =
Sep 11-11:32 AM
Exercise 19

nd b be numbers. Use the distributive law to simplify the expression of the following number:

bla+b) =

Sep 14-11:10 AM
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Exercise 20

Let @ and b be numbers. Use the distributive law to simplify the expression of the following number:

(a+b)atb)=

Sep 14-11:10 AM

In general, if x is nonzera and m, n are positive integers, then

m

x
— =" ifm > n.

xl’l

Exercise 21 Exercise 23

r IAXTTATTT 3 ¢ 7
“wEEAR7 1 i (5)
q,L =23 2-2:7

Exercise 22 7 Exercise 24
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Exercise 25

Let @, b be nonzero numbers. What is the following number?

Jg_ o 7 q"';:’ 7
°)

.
k!

= =

i

—
=5

Exercise 26
Let x be a nonzero number. What is the following number?

e \

= X K
5-4=|

n
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Can the following expressions be simplified? If yes, write an equivalent expression for each problem. If not, explain why

not.

Exercise 27 Exercise 29
-1

7 2.'-" 3 35_28 <- 2
%2_‘5 2 RO z o3

Exercise 28 Exercise 3 7
o — q
- _E_ 2 (_2)?‘ 955 ’2 /
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Exercise 31

Let x be a number. Simplify the expression of each of the following numbers:
§ .3 .A.*.x.x.x.y.x.y
A XX
5 (~H) -fxf/~y-x X ¥

oA

5- U;i-i‘)i\:')(

5
a. x—a(3xg] =

5
2 &y _
b. xg(—=l-x]—

S “
< = (11x*) =

Sep 14-11:10 AM

Homework

1. Simplify each of the following expressions as much as possible:

27 % 2.7% =

(—19)% - (—19)*

(\’l)”

= 36

(—%J“-(—%J"=(\—_ﬂ_,;>'”“"

2. Simplify each expression below as much as possible,

7 25— 3,./23

(_2)9 J55 B
(=23 )52 -

™5
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Exit Ticket

Simplify each of the following numerical expressions as much as possible:

1. Letaand b be positive integers. 239 = 23F =

Sep 14-11:10 AM

11*

3. Letx and y be positive integers and x > y. v =

Sep 14-11:10 AM
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